CNS 3320
 Homework – Chapter 3
Roots of Equations

Date Due: See Syllabus
1. Use simple, fixed-point iteration to find a zero of the equation 
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. Use a calculator. Describe the steps you used to find the root. Explain why your procedure worked.




2. Use Newton’s method to solve the following:

a. Form an equation whose root will yield the square root of the number 
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. Write the iteration formula to solve this equation using Newton’s method. Use the formula with a calculator to find the square root of 3. Report how many iterations the process took.



b. Repeat the previous part to find the cube root of 3.



c. Write the Newton iteration formula that will yield the 
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-th root of 
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3. When solving the equation 
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by simple, fixed-point iteration:


a. In what interval can you choose an initial guess for the iteration that will guarantee that the iteration will converge? 


b. What is the order of convergence near the root x = 1?



4. Find all 4 roots of the equation
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. Two are complex, two are real. Find the two real roots first, deflate the polynomial, and then use the quadratic equation.




5. Do problem 1 in section 3.1 of the book (page 85), except use the full accuracy of your machine or calculator (whichever you use).
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